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Exercice 1      :   Convertir dans l'unité demandée (placer les valeurs dans le tableau de 
conversion et le joindre au corrigé)

1) 0.672 dm²   = ............................. cm2

2) 0.0666 dam2  = ............................. dm2

3) 0.0717 hm2  = ............................. m2

4) 0.0365 dam2  = ............................. m2

5) 5500 dm2  = ............................. dam2

6) 0.0643 m2  = ............................. dm2

7) 109000 dam2  = ............................. km2

8) 0.0875 cm2  = ............................. mm2

9) 737 cm2  = ............................. dm2

10) 90100 dm2  = ............................. m2

11) 886 dm2  = ............................. m2

12) 28.7 dm2  = ............................. cm2

13) 255 km2  = ............................. hm2

14) 887000 m2  = ............................. dam2

15) 42000 cm2  = ............................. dm2

16) 8230 cm2  = ............................. m2

17) 0.0784 dm2  = ............................. mm2

18) 0.292 hm2  = ............................. dam2

19) 414 m2  = ............................. hm2

20) 0.0912 hm2  = ............................. dam2

21) 0.399 dm2  = ............................. cm2

22) 75.6 dm2  = ............................. cm2

23) 63400 m2  = ............................. km2

24) 0.871 m2  = ............................. cm2

25) 941 dm2  = ............................. cm2

26) 605000 cm2  = ............................. m2

27) 299 dam2  = ............................. hm2

28) 0.0172 dam2  = ............................. m2

29) 302000 m2  = ............................. km2

30) 7350 cm2  = ............................. dm2
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